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128,00 181,67 woda, zagl. 1,67 m
131,00 181,67 kanalizacjo, zagt. 4,36 m
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195,50 181,52
198.00 18151 woda, zagt. 1,62 m
T98.60 * kabal elektr, zogl, 0,60 m
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201,00 a 181,50 %ﬂ%ﬁ.—m
203,00 o 1,50 [181,50(183,00 B
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247,00 181,95 qaz, zagl. 0,95 m
280,00 | 182,28 _
282,00 ‘9 182,30 kanalizacja, zagt. 4,18 m
Y 1,50 183,80 tuk 110 PE 90°
283,20 = 182,29 kabel elektr., zagl. 0,59 m
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)
468,00 180,15 woda, zagl. 1,65 m
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552,50 179,87 kabel elektr., zagi. 0,67 m
o
o »
572,00 1,50 179,81 181,31 S Studzienka rewizyjna #1200




